H £ 0l & AF & S

Al A

202834E F=Z 2 3| LBts| /At
SA A
M HARAZHI(S AL
s Jl=dhl EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
1 2,786,368 2,469,498 316,870
A 2AZHI(SHI) 35,430 29,926 5,504
=38l 35,430 29,926 5,504
Jl=23H] 31,650 26,146 5,504
201 LBl 21,314 20,810 504
01 AtR2t2l] 21,314 20,810 504
OJ1&Ed 12,384 11,880 504
—SEHI(YEHA)
ZE 8,0003 #3411+ 128 ~24H 6,912 6,624 288
-2 Et=EH| ZE 240,000 24 +90% 5,184 4,968 216
405 AtatsE = 5,000 0 5,000
01 Tt =S F=H 5,000 0 5,000
O=&2l 204 3,000,000 *1CH 3,000 0 3,000
OILt£4I1 20K 2,000,000 *1CH 2,000 0 2,000
S&ot) et HEo o 124,073 116,023 8,050
getet g 104,073 9,023 8,050
INE=Saped 104,073 9,023 8,050
201 ger=2 3| 89,873 81,823 8,050
2 3324l 44,353 36,303 8,050
OXIAITH KIS THE 2| AlIAE-H ok™ 2 BN
AAE S ORYY 8,050,000 8,050 0 8,050
Hatzte] & HA2E 2,374,328 2,086,812 287,516
ISFIHL 2t 654,300 539,300 115,000
SEMA 22| 654,300 539,300 115,000
401 AlEBIYL S THYI 615,000 500,000 115,000
01 Al&ZHI 615,000 500,000 115,000
O=gH dI=XHEH 0l EXI0HSHI
34 02 0 500,000 500,000
OZEAL =8 EX HYHI
610,000,000 610,000 0 610,000
O(F)sJI L&D IELZ EXIONYI
5,000,000& 5,000 0 5,000
SSEAL 2] 1,720,028 1,547,512 172,516
SArztel 1,720,028 1,547,512 172,516
201 LB2 ] 1,187,525 1,044,509 143,016
01 AtR2t2l] 55,336 60,292 14,956
Ost&4Al Hidl itz
ZE 17,0002 %590« 122 12,036 16,992 24,956
02 S5=24g4l 1,132,189 94,217 147,972
OBMEI RS 3%,815 274,141 122,674
-Yutg DA JIEE
ZEF 9,810 x500kW+ 122 58,860 58,860 0
- (0E)
& 186. 13 +238,000kwh*3& 132,876 72,579 60,297




SA: BHD
HH: ARl Y HARY

el SSEA & (SH9 H2)
SN - B G(EH) - NRAY - BES 0 & o[- HimE==T
-HEY(S,0HE8)
3& 104.32%170,000kwhx52 88,655 52,150 36,505
-HE(AS)
3 161.7&*180,000kwh*4 2 116,424 90,552 25,872
OFMNZAIARS
3 4,170,000& 123 50,040 30,000 20,040
OF Ao+ E23 26,892 22,680 4,212
A== BE 2,000+830E+ 12 19,920 16,800 3,120
Ot=Ee2s & 700+830E+ 12 6,972 5,880 1,092
O EAl EHAZETAIE HEJE MBS
3 48,5003 123 582 1,560 N978
OUEXEX X MRS 5,1% 3,172 2,024
-HAF(AHE)
38 100.73+5,000kwh*32 1,511 303 1,208
-HEE(8,0tE)
ZE 60.28%2,200kwhx53 663 301 362
-HERE(AS)
ZE 87.3%+2,300kwh+42 804 350 454
401 AIEHIL 20| 324,500 305,000 19,500
01 Al&HI 324,500 305,000 19,500
OTHAL &I|& HI|Z3A
19,500,000 19,500 0 19,500
405 THaHE S| 90,000 80,000 10,000
01 MM =S FSHI 90,000 80,000 10,000
O3S A SHI(POOL)
3 90,000,000 90,000 80,000 10,000
A2 252,537 236,737 15,800
224 g 252,537 236,737 15,800
SENE 29 2l 252,537 236,737 15,800
201 ZB=Eh] 151,285 135,485 15,800
01 AlR:2telHl 0 3,200 3,200
OF= 7 A2 284 &0t MU 0 3,200 3,200
-t 4=tk OI=H| 38 0 0 2,700 N2,700
-2l 38 02 0 500 A500
2 s=5=34l 151,285 132,285 19,000
Oxtetl 128,500 109,500 19,000
-SE38(HExs)
& 8,500,000 *4CH 34,000 30,000 4,000
-SEUE & 12,700,000 +1CH 12,700 11,700 1,000
-SESE 3 6,400,000 +2CH 12,800 10,800 2,000
SE4E &% 6,000,000 +1CH 6,000 5,000 1,000
—St=le Z& 6,300,000 *7CH 44,100 37,100 7,000
StE4E 3 4,700,0002*10H 4,700 3,700 1,000
mar=pVl 3 7,100,000 =2CH 14,200 11,200 3,000




